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Shopping Division
Solve the following word problems.

1 A toy store has 6,789 toys. If they pack them in
boxes of 56, how many boxes will they have?

2 A supermarket has 5,678 bottles of juice. If they
sell them in packs of 45, how many packs can they
make?

3 A supermarket has 5,678 bottles of juice. If they
sell them in packs of 45, how many packs can they
make?

4 A toy store has 6,789 toys. If they pack them in
boxes of 56, how many boxes will they have?

5 A furniture store sold 7,890 chairs. If each
customer bought 67 chairs, how many customers
bought chairs?

6 A bakery baked 8,901 cookies. If they pack them in
boxes of 78, how many boxes will they have?

7 A wholesaler sold 9,012 shirts. If each vendor
bought 89 shirts, how many vendors bought shirts?

8 A fruit vendor bought 4,567 oranges. He wants to
divide them into bags, with each bag holding 67
oranges. How many oranges will be in each bag?

9 John bought 6,578 candies for his candy shop. He
wants to divide them into packets of 45 candies
each. How many candies will be in each packet?


